w Q‘g=T1 ‘Ww £g@ BujgIzpnmp
EBMOUOJSO eunl ._OL& |
05°2G1.=0Y 0% 'zeb "ujs!

€9'CG1=0Y 'Yoo19i8} [9gey "uis! g

€7 1G1=04 0112 "pom "ujs|

TZ'€S1=0Y 0%@ "Zeb "ujs|

02'251=04d 0v® Zeb US|

617¢51=0Y "Yosio[e} [9qey "Uis]

71'1G1=04 NN "biaus |agey "uisl

¥Z'871=pY 00¢@ "Ues "uey "us

65°0G1=0Y "yosje|8} [aqey "ujs!

0G'611=0Y 02 "|daId’S "ujs|

W '€= ‘WW GZZ@ eu|sIZpNMpP BMOUOSO einl “[old

G9'8¥1=0Y 0512 "Zeb "ujs!

88'8¥1=0Y "Ydaja|a) |agey ‘foid

8G'/v1=Ppd 01 1@ BUZOOH "UES "UB)Y "U}S]

8S'/¥1=PYd 01 | @ BUZDO}} "UES "UBy "Ujs|

G8'8¥1=0Y "yos}o|8} [8qey "ujs!

4
N~ .. —
= — = >N c
O 2|3 2S o w® Sleo©
rs| s |5|302|]|e
T o o |Z 5 © Ols
_ 0o |o W SR A s
- S |- o N |~
“ | =28 =28 (s8
10/@ & || O& |= g5 S8l
! _ Fo |7 Z| 2 Tl 2
| X < |m o o =
1 wl — %
S < |5
k=)
o |2
o) m W z m
|5 e3lz 8
8|83 Sz |Ee [P
X (.= i — 0 c
99|12 |7 ms- |28
Slei2 |2 b |58 2
> Q= .m < 5 o n|Wa o
= ololo |5 g 53 5 2
. ololo |= ERN c s
<133 |2E|€ |2 2852|8565
Zlglel |88 |S (B X% =205
Glslel |22z €8 Y |§:<5| |5558
o231 [T B s8] |8282
Z1812(S 0|00 o|E Dl o83
Z|S|S 2NN~ E|e A .. SE RN
ol|l|e|a|xz|=|x 2|a B _%_ s 59
o E
4
W Z'0=H ‘W z'0=g ‘W 0‘c=" Amolur 1sndm Todd [9L°€SI [ ZL'ESL | Z1'2SL| 660 £ 0€'8 W
og'g € \
=2 0
Ww GZ2 dd/ad Z eulAkzimal elupnys ‘fold 62°€SL | €C°€SL | ¥8'LSL| G¥') 000 ()
M msndm aiuazokjpod [p]
WW GZ¥2 dd/3d Z eulkizimal elupnys ‘foid [ 62°€SL | €C°€SL | ¥8LGL| €V L o | 01901 (M)
2
| o
0
d ©
| QS 2
i -~ D
H U
g N 5
N
Q
@)
=
o <
WWw GZ@ dd/3d Z eulAzimal elupns “foid [ 2€°€GL | 91L°€SL | 2L LSL| 09'L o| 08718 ()
R
2’
-
o
D 2\
L7}
-
N B
I
Q
(©)]
>
o 92
Ww GZy@ dd/3d z eulkzimal eiupnss ‘foid | G9°¢SL | 66°¢GL | SO'LGL| 09°) 2 0€°09 (M)
Ye]
<
o 2\ «
0 5
To R
- g
S
€M nisndm aluszokpod o N
WWw GZ@ dd/3d Z eulAzimal elupnis “loid | Z2°¢GlL | €2°2S1L | /9051 | 09'L o| 08'vY ()
R
0
QV
N~
o
o |0
<t |Z
o N
To)
<
™
Q
@)
=
ZM ‘LM :nisndm aiuazokipod . _ _ . o _ —
ww 0001 @ uoyaq eulkzimal elupnys “loid [ 60°0G1 [ ¢L'0G) [ ¥1'87L| G6') 2| 06% ()
A
066 [2 \ %
Q
S
_ _lesivL| 89 S _ —
ww 00012 uojeq eulAzimai ejupnis 1| | Ly'6vL | L¥'6YL | S8°9FL | 99°C A 000 w
()
: ©
= S
Q n
(e
(S 0
S 7
b S 8§ s =
(@)}
~ O Q =)
> £ g ©
N (@) Q - c
= s 9 &£ 5 &£ T | =
TS © o 2 c | y= £
0oL & >z § 5 = & =
— = X | © >
| ‘O S S £ (%)
S 22 2 le = E| o
a 28 - 5 8 & =
® ® ® = @) (&) N
E £ 2 23 3 2%
S o © | ©v L g o S
N (O (O (OF (@) — o S5
O N N N © © = =
o e e e N O \» ()



